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1. Given the curve as shown… 

Find elevations for full and half stations: 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 

L=600.00’ 

PVI = 28+50 
EL = 436.00’ 

+2.234% 

PVC 

-1.875% 

PVT 
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2. Given the curve as shown… 

Find elevations for full and half stations: 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 

L=800.00’ 

PVI = 45+00 
EL = 515.00’ 

-3.467% 

PVC 

+2.250% 

PVT 
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3. Given the curve as shown… 

Find elevations for full and half stations: 
(Include station at midpoint of curve.) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

L=850.00’ 

PVI   EL = 319.27’ 

+0.950% 

13+12.87 
PVC 

-1.270% 

PVT 


